(3)

(5)

(7)

(9)

RH7FAN B&

%, 5 04

RD DX, (SHAs T, Af14730F, Bk 24y, C#34320% )

AD6E 457 = A x

(%)

AD5%HE = A x

AD2E 5574 = A x

ADI129 %5 E = A x

AD2EHBEL O 1E L
=A x

(2) AD03% =A x (/NgT)
(4) Ax094=AD Gyl &
6) A D250%HL = A x

(8) Ax084=AD %15 &
(10)  AD5%HLD10 %5 &

=AD RIGL - 5|
FEL2EIELELLNICOZDIT L)
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KD DX, (SHb, Afk1340%, B#24320%, C#k345340% )

(1) AD4HE 295 =A x (45%0C) (2) ADI125% = A x (5%50T)
(3) AD01%HE =A x (4) A x0.888
—AD ) SN JE 5| &
(5)  AD4E-L = A x 6) Ax15=AD L
(7)) ADI125%HL = A x 8) A x092=AD %H| =
(9) AD2E55L D20 %5 & (10) A D20%MWL D18 %A=
=A x =AD IEL - 51 =

LB ENELSICOZDIT )
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RETARM BEI& %, 8 04 BRERES

RD DX, (SHAs T, Af14730F, Bk 24y, C#34320% )
(1) ADGE 445 — A x g (43 50C) (2) AD03% =A x| 0.003 VY &Q)
3) AD5%HE =A x| 0.95 (4) Ax094=AD| 6 |5l
(1—0.94) x 100 =6
1—0.05=0.95
(5)  AD2#54r4H = A x| 0.254 6) A D2B0%EL =A x| 3.5
14250 =100 = 3.5
(7)) AD129%5 % = A x| 0.871 (8) Ax08=A®D| 16 | %8| =
(1 —0.84) x 100 = 16
1—0.129 = 0.871
(9) Ao2EL o1 EmL (10) AD5%®L D10 %5 =
= A x| 1.32 —A®D| 55 |%5 =
(140.2) x (1+0.1) = 1.32 % (140.05) x (1 —0.1) = 0.945 5

1—0.945=0.055 5] &
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KD DX, (SHb, Afk1340%, B#24320%, C#k345340% )

(1) AD4H25 — A x % (51500 2 AD125% = A x % (51500
(3) ADO01%HEE =A x| 0.999 (4) A x0.888
=AD| 1 |#E]| 1|92 |HEHE

(5) AD4E-S = A x| 0.48 6) Ax15=AD| 5 [&rL
(7)  ADI125%ML = A x| 2.25 (8) A x092=A0D| 8 |%H|x
(9) A®D2E 558 D20 %5 = (10) A D20 %L D18 %H| X

= A x| 1 —AD| 1.6 |%8 =

(1+0.25) x (1 -0.2) =11% (1+0.2) x (1 —0.18) = 0.984 %

1—-0.984=0.016 5 &
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